

CALCULUS EXAM

FINAL EXAM

NAME : ANEES AHMED

ID : 16886

Calculus & Analytical Geometry

Final Paper (BS, SE)

Submitted to:- e.M. Absar Khan

Date: Jun 27 2020

NOTE:- Attempt all questions:-

Q# 01

Q1 Differentiate $\frac{3x^4 - 2x^3 + 5}{x^3 + 1}$ with respect to x .

Solution:-

$$y = \frac{3x^4 - 2x^3 + 5}{x^3 + 1}$$

Differentiate w.r.t x

$$\frac{dy}{dx} = \frac{(x^3 + 1) \frac{d}{dx}(3x^4 - 2x^3 + 5) - (3x^4 - 2x^3 + 5) \frac{d}{dx}(x^3 + 1)}{(x^3 + 1)^2}$$

$$\frac{dy}{dx} = \frac{(x^3 + 1)(12x^3 - 6x^2) - (3x^4 - 2x^3 + 5)(3x^2)}{(x^3 + 1)^2}$$

$$\frac{dy}{dx} = \frac{12x^6 - 6x^5 + 12x^3 - 6x^2 - 9x^6 + 6x^5 - 15x^2}{(x^3 + 1)^2}$$

$$\frac{dy}{dx} = \frac{3x^6 + 12x^3 - 9x^2}{(x^3 + 1)^2}$$

$$= \frac{3x^2(x^4 + 4x - 7)}{(x^3 + 1)^2}$$

Q2 Differentiate $\frac{(x^3 + 1)^2}{x^3 - 1}$ with respect to x .

Solution:-

$$y = \frac{(x^3 + 1)^2}{x^3 - 1}$$

Differentiate w.r.t x

$$\frac{dy}{dx} = \frac{(x^3 - 1) \frac{d}{dx}(x^3 + 1)^2 - (x^3 + 1)^2 \frac{d}{dx}(x^3 - 1)}{(x^3 - 1)^2}$$

$$\frac{dy}{dx} = \frac{3x^2(x^3 + 1)[2(x^3 - 1) - (x^3 + 1)]}{(x^3 - 1)^2}$$

$$\frac{dy}{dx} = \frac{8x^2(x^3 + 1)[2x^3 - 2 - x^3 - 1]}{(x^3 - 1)^2}$$

$$\frac{dy}{dx} = \frac{3x(x^3 + 1)(x^3 - 3)}{(x^3 - 1)^2}$$

Q# 02

Find the integration of $\int \frac{1}{x^2} dx$

Solution:-

$$\Rightarrow \int \frac{1}{x^2} dx$$

$$\Rightarrow \int \frac{1}{(x^2)^{1/2}} dx$$

$$\Rightarrow \int x^{-1/2} dx$$

$$\Rightarrow \frac{x^{-1/2 + 1}}{-1/2 + 1} + C$$

$$\Rightarrow \frac{x^{1/2}}{1/2} + C$$

$$\Rightarrow \frac{2x^{1/2}}{1/2} + C$$

Page # 03

$$= -\frac{2}{2}x - \frac{3}{2} + C$$

$$= -\frac{2}{3} \frac{1}{\sqrt[3]{2x}} + C \quad \text{Ans}$$

(B) Find the integration of $\int \frac{1}{(8u+7)^8} du$

Solution:-

$$\Rightarrow \int \frac{1}{(8u+7)^8} du$$

$$\Rightarrow \int (8u+7)^{-8} du$$

Multiply and divide by 8

$$\Rightarrow \frac{1}{8} \int (8u+7)^{-8} du$$

$$\Rightarrow \frac{1}{8} \frac{(8u+7)^{-8+1}}{-8+1} + C$$

$$\Rightarrow \frac{1}{8} \frac{(8u+7)^{-7}}{-7} + C$$

$$\Rightarrow -\frac{1}{56} (8u+7)^{-7} + C$$

$$\Rightarrow \frac{1}{56} \left(\frac{1}{(8u+7)^7} \right) + C \quad \text{Ans}$$

Q# 03

Find the integration of $\int \frac{-x+9}{2x^2-2x+6} dx$

Sol:-

$$I = \int \frac{-x+9}{2x^2-2x+6} dx$$

$$\int \frac{-x+9}{2x(x-1)+6} dx$$

$$\int \frac{-x+9}{(x-1)(2x-6)} dx$$

$$\frac{-x+9}{(x-1)(2x-6)} = \frac{A}{x-1} + \frac{B}{2x-6} \rightarrow (1)$$

Multiplying (x-1)(2x-6) on both side

$$= A(2x-6) + B(x-1)$$

$$-x+9 = A(2x-6) + B(x-1) \rightarrow (2)$$

Let $x-1 = 0$

Put $x = 1$

$$-1+9 = A(2(1)-6) + B(1-1)$$

$$8 = A(-4) + 0$$

$$8 = -4A$$

$$\frac{8}{-4} = A$$

$$\boxed{-2 = A}$$

Let $2x-6 = 0$

$$2x = 6$$

$$x = \frac{6}{2}$$

$$x = 3$$

$$-3+9 = A(2(3)-6) + B(3-1)$$

$$6 = A(6-6) + B(2)$$

$$6 = A(0) + 2B$$

$$6 = 0 + 2B$$

$$\frac{6}{2} = B$$

$$\boxed{3 = B}$$

Put value of A and B

$$\frac{-x+9}{(x-1)(2x-6)} = \frac{-2}{x-1} + \frac{3}{2x-6}$$

Taking integral on both sides

$$\int \frac{-x+9}{(x-1)(2x-6)} dx = \int \left(\frac{-2}{x-1} + \frac{3}{2x-6} \right) dx$$

$$\int \frac{-2}{x-1} dx + \int \frac{3}{2x-6} dx$$

$$-2 \int \frac{1}{x-1} dx + 3 \int \frac{1}{2x-6} dx$$

$$-2 \ln|x-1| + \frac{3}{2} \int \frac{1}{2x-6} dx$$

$$-2 \ln|x-1| + \frac{3}{2} \int \frac{2}{2x-6} dx$$

$$-2 \ln|x-1| + \frac{3}{2} \ln|2x-6| + C$$

$$\ln|(x-1)^2| + \ln|(2x-6)^{3/2}| + C$$

Ans

(b) Find the integration of $\int \frac{4x^2 + 8x}{(x^2+1)(x^2+2x+3)} dx$

Sol:-

$$\int \frac{4x^2 + 8x}{(x^2+1)(x^2+2x+3)} dx$$

$$\frac{4x^2 + 8x}{(x^2+1)(x^2+2x+3)} = \frac{Ax+B}{x^2+1} + \frac{Cx+D}{x^2+2x+3}$$

$$4x^2 + 8x = Ax^2 + B(x^2+1) + Cx^2 + D(x^2+2x+3)$$

Coefficient Comparison

$$\begin{cases} D = A + C & 4 = 2A + B \\ -C = A & 8 = 4A + 2B \\ -C = D & 0 = 2A - 2B \\ C = 0 & 0 = 2A \end{cases} \Rightarrow \begin{cases} B = 3A - 2B \\ B = 3(0) - 2B \\ B = 2B \\ 4 = 2B \end{cases}$$

$$D = A$$

$$D = C + D + 3B$$

$$D = D + 0 = 0 + D + 3(4)$$

$$-12 = D$$

$$\int \frac{4x^2 + 8x}{(x^2+1)(x^2+2x+3)} dx = \int \frac{4}{x^2+1} dx + \int \frac{-12}{x^2+1} dx$$

Q# 4

Solve the following Matrix

$$x + \begin{bmatrix} 3 & -1 \\ 2 & 2 \end{bmatrix} = \begin{bmatrix} 5 & 1 \\ -3 & 1 \end{bmatrix}$$

Sol:-

Equation

$$x + \begin{bmatrix} 3 & -1 \\ 2 & 2 \end{bmatrix} = \begin{bmatrix} 5 & 1 \\ 3 & 1 \end{bmatrix}$$

$$x = \begin{bmatrix} 5 & 1 \\ -3 & 1 \end{bmatrix} - \begin{bmatrix} 3 & -1 \\ 2 & 2 \end{bmatrix}$$

$$x = \begin{bmatrix} 5-3 & 1-(-1) \\ -3-2 & 1-2 \end{bmatrix}$$

$$x = \begin{bmatrix} 2 & 2 \\ -5 & -1 \end{bmatrix} \xrightarrow{\text{Ans}}$$

(b) $x + \begin{bmatrix} 1 & 0 \\ 0 & 2 \end{bmatrix} - \begin{bmatrix} 8 & 6 \\ 1 & 5 \end{bmatrix} + \begin{bmatrix} -4 & -8 \\ -2 & 0 \end{bmatrix}$

$$x + \begin{bmatrix} -1 & 0 \\ 0 & 2 \end{bmatrix} = \begin{bmatrix} 8 & 6 \\ 1 & 5 \end{bmatrix} + \begin{bmatrix} -4 & -8 \\ -2 & 0 \end{bmatrix}$$

$$x + \begin{bmatrix} -1 & 0 \\ 0 & 2 \end{bmatrix} = \begin{bmatrix} 4 & -2 \\ -1 & 5 \end{bmatrix}$$

$$x = \begin{bmatrix} -1 & 0 \\ 0 & 2 \end{bmatrix} + \begin{bmatrix} 2 & 2 \\ 1 & -3 \end{bmatrix}$$

$$x = \begin{bmatrix} -2 & 2 \\ -1 & 5 \end{bmatrix} \xrightarrow{\text{Ans}}$$

$$x = \begin{bmatrix} -2+1 & -2+0 \\ -1+0 & 5+2 \end{bmatrix}$$

$$x = \begin{bmatrix} -1 & -2 \\ -1 & 3 \end{bmatrix} \xrightarrow{\text{Ans}}$$

(c)

$$x + 2I = \begin{bmatrix} 3 & -1 \\ 2 & 2 \end{bmatrix} \Rightarrow x = \begin{bmatrix} 3 & -1 \\ 2 & 2 \end{bmatrix} - 2 \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} = \begin{bmatrix} 3-2 & -1-0 \\ 2-0 & 2-2 \end{bmatrix} = \begin{bmatrix} 1 & -1 \\ 2 & 0 \end{bmatrix} \xrightarrow{\text{Ans}}$$

Q# nos 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23, 24, 25, 26, 27, 28, 29, 30, 31, 32, 33, 34, 35, 36, 37, 38, 39, 40, 41, 42, 43, 44, 45, 46, 47, 48, 49, 50, 51, 52, 53, 54, 55, 56, 57, 58, 59, 60, 61, 62, 63, 64, 65, 66, 67, 68, 69, 70, 71, 72, 73, 74, 75, 76, 77, 78, 79, 80, 81, 82, 83, 84, 85, 86, 87, 88, 89, 90, 91, 92, 93, 94, 95, 96, 97, 98, 99, 100

Q1) If $A = \begin{bmatrix} 1 & 4 \\ 2 & 1 \end{bmatrix}$, $B = \begin{bmatrix} -3 & 2 \\ 4 & 0 \end{bmatrix}$, $C = \begin{bmatrix} 1 & 0 \\ 0 & 2 \end{bmatrix}$
Find $A^2 + B^2$

$A^2 + B^2$

$A = \begin{bmatrix} 1 & 4 \\ 2 & 1 \end{bmatrix}$, $B = \begin{bmatrix} -3 & 2 \\ 4 & 0 \end{bmatrix}$, $C = \begin{bmatrix} 1 & 0 \\ 0 & 2 \end{bmatrix}$

$A^2 = \begin{bmatrix} 1 & 4 \\ 2 & 1 \end{bmatrix} \begin{bmatrix} 1 & 4 \\ 2 & 1 \end{bmatrix}$

$A^2 = \begin{bmatrix} 1 \times 1 + 4 \times 2 & 1 \times 4 + 4 \times 1 \\ 2 \times 1 + 1 \times 2 & 2 \times 4 + 1 \times 1 \end{bmatrix}$

$A^2 = \begin{bmatrix} 1+8 & 4+4 \\ 2+2 & 8+1 \end{bmatrix}$

$A^2 = \begin{bmatrix} 9 & 8 \\ 4 & 9 \end{bmatrix}$

$B^2 = \begin{bmatrix} -3 & 2 \\ 4 & 0 \end{bmatrix} \begin{bmatrix} -3 & 2 \\ 4 & 0 \end{bmatrix}$

$B^2 = \begin{bmatrix} -3 \times -3 + 2 \times 2 & -3 \times 2 + 2 \times 0 \\ 4 \times -3 + 0 \times 2 & 4 \times 0 + 0 \times 0 \end{bmatrix}$

$B^2 = \begin{bmatrix} 9+4 & -6+0 \\ -12+0 & 0+0 \end{bmatrix}$

$B^2 = \begin{bmatrix} 13 & -6 \\ -12 & 0 \end{bmatrix}$

$A^2 + B^2 = \begin{bmatrix} 9 & 8 \\ 4 & 9 \end{bmatrix} + \begin{bmatrix} 13 & -6 \\ -12 & 0 \end{bmatrix}$

$A^2 + B^2 = \begin{bmatrix} 9+13 & 8-6 \\ 4-12 & 9+0 \end{bmatrix}$

$A^2 + B^2 = \begin{bmatrix} 22 & 2 \\ -8 & 9 \end{bmatrix}$

Ans